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SANSKRIT - HONOURS
SEVENTH PAPER

Full Marks : 50

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Unit - I

(Marks : 40)
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Unit - 1T

(Marks : 10)
5. Answer any one of the following questions : 6
(a) Write a note on cerebralisation in Sanskrit.

3x3=9



(3)
(b) Define and illustrate Anaptyxis and Metathesis.
Show the difference between them citing

examples. 242+2=6
6. Wﬁmahortnohesonmwnvoofthefoﬂowing:
2x2=4
() Apocope
(b) Aphacresis
(¢) Epenthesis
(d) Assimilation.
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